H £ 0l & AF & S

20258 =0ila LEHSIH SAIXI2 ot

Al A

SA SAX 2
33 od=Nsd
el 0ld0l g=et 1= 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXIX2 97,546,903 96,569,422 987,481
= 63,625,970
[ 2,354,691
Il 1,030,508
== 5,678,759
= 24,856,975
(GESEINEFN 2,078,742 5,969,601 A3,890,859
= 826
Il 1,030,508
== 279,869
o 767,539
M0l =g I 28 174,750 166,050 8,700
[ 25,000
T 149,750
e, O122d X3 25,750 26,050 A300
201 er2 3| 8,650 8,950 A300
01 AlR22lH| 5,950 6,250 A300
SRS 1,350
OUMZAUTIZIRS HALL
100, 0002 *1024*13] 1,000
OYMBEZ2H JIEHMAL EHTY HE 72
120,000 30 3,600
03 A= &I 2,700 2,700 0
O3 12 AUEHNY SEUS
900,000 %13 900
Odgolll 885 gy 1S 82
450,000 *42] 1,800
203 =4l 1,500 1,500
03 A=A 2= 1,500 1,500
Oy =&Y 1,500
301 EtE NS 600 600
11 dAMEEIXIZE S 600 600
O uE & Bd= X2
50,0002 *12H 600
307 gl2to| & 15,000 15,000
1 AMISXAEEXS 15,000 15,000
Ondz=dHAME s 23X 15,000
HgEHHE2lal it M=z 15,000 15,000 0
307 212+01™ 15,000 15,000
04 QIZIHAIAIH E X 15,000 15,000
O04EHEzl etitS MU 15,000
SdHESFAAAL 10,000 10,000
307 glztol & 10,000 10,000
11 AMEISXAEEES 10,000 10,000
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2A:

SXIXIZ 4

33 od=Nsd
el 0ld0l g=et 1= 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,250
oW4eld ostdiol 2¢ 8,000
== 2,000
[Ea 6,000
OZEHE Od NFA 7,000
= 1,750
= 5,250
O1d 0Ll HEY =E 2 8,000
=S 2,000
s 6,000
207 AR 20,000 0 20,000
< 5,000
= 15,000
01 H1E4H] 20,000 0 20,000
Odelil A 2= 20,000
= 5,000
= 15,000
301 EtE2 NS 10,400 16,800 26,400
=S 2,600
s 7,800
02 ANRI2HHSFS(HAAS, NLHE) 6,000 10,000 24,000
o=sksAt HZESHl K&
40,0002 x150E 6,000
< 1,500
= 4,500
11 dAMEBIXIZE S 2,400 800 1,600
oudzlztdlAl S 2o XNa
20,0002 152 +83] 2,400
= 600
o 1,800
14 0Bt 2a s 2,000 6,000 24,000
OROIHOIH S BE2Y X2
20,0002 * 15 *42] 1,200
S 300
= 900
OZieIEAN 212+g XS
100,000 x4 & »22| 800
= 200
o 600
401 AIEHIZ SR 0HYI 30,000 25,000 5,000
< 7,500
T 22,500
01 Al&H| 30,000 25,000 5,000




2A:

SXIXIZ 4

33 od=Nsd
el -0l gi=sst s 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ooidalst 2t &4
20,000,000 * 100 2 20,000
= 5,000
Ea 15,000
o0&t ZE &4
10,000,000 * 10 2 10,000
< 2,500
[Ea 7,500
HEZSEAl =4 20,000 20,000
207 ARl 20,000 20,000
01 H1E4H| 20,000 20,000
OWHEESIEAl THAIE HRZAHH] 20,000
SIRLIIEXA 791,293 748,742 42,551
Jl 596,104
= 88,120
= 107,069
SHRRIIEIIE $SHl S N3 739,092 678,214 60,878
Jl 591,274
< 73,909
= 73,909
301 EtE NS 739,092 678,214 60,878
Il 591,274
== 73,909
o 73,909
01 Al 2E A S(SREXME) 739,092 678,214 60,878
OeR2IIEFNHL=HISKIH 739,092
7l 591,274
= 73,909
o 73,909
FLHSRE Ols¢E & NEAE 6,037 3,328 2,709
7l 4,830
= 362
o 845
301 EetE NS 6,037 3,328 2,709
Il 4,830
= 362
[Ea 845
01 Al EE A S (2 REXMR) 6,037 3,328 2,709
OFATSIRITEXIAALEY 6,037
) 4,830
= 362
= 845
SRLIIE NHEXIA(SXEH) 30,764 61,400 A21,636




2A:

SXIXIZ 4

gij; gii§§%% EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

= 11,929
= 27,835

301 LBBNZ 39,764 61,400 221,636
& 11,929
= 27,835

02 NS EZASHS(HAUAS, XLTHA) 39,764 61,400 A21,636
o"gHAZHI XA 33,364
& 10,009
o 23,355
(©OFE=PNI=I=INF.| 3,000,000 * 1 A| CH 3,000
T 900
= 2,100
(OraRAe ral=|PNE-! 100,000 *5AI CH 500
& 150
= 350
oxgELIX 500,00021%12 500
< 150
2 350
oY= IHASHSHI XA o > 0
& 720
= 1,680

OIESHL2I1E XHEKIE (XAl 6,400 5,800 600
& 1,920
[ 4,480

301 LB F 6,400 5,800 600
& 1,920
= 4,480

02 MBI 2EHES(FHUAHS, NSTHA) 6,400 5,800 600

OOIEZ2ANMAE QUH|XIA

1,000,000 =1 1,000
T 300
= 700
OO0|=2&R2ItHF @%EEHIIH:SO,OOO%HZ%W% 4200
T 1,260
= 2,940
O0|E&tR2IIE A SHH X 1 200.00021+1% \ 20
T 360
= 840

HZNESLEXA 218,849 4,322,109 24,103,260
= 826
| 82,619




2A:
X XH -
o e

=aak

SXIXIZ 4
od=Xsd
AZINESEAE

SA - Z3F - SRA(E) - HRAEY

- ESS

Ofl &F2H

H
ol &y

A H

47,664
87,740

FAERD ots2=Hl XE A

HH W

1,652
826
248
578

7,909

26,257

HoH W

1,652
826
248
578

7,909

NB,257

MW

1,652
1,652
826
248
578

7,909

26,257

S

M

154,879
77,439
38,720
38,720

141,280

13,599

307 212+01™

S

M H

154,879
77,439
38,720
38,720

141,280

13,599

S

EUNGY

154,879
154,879
77,439
38,720
38,720

141,280

13,599

HESH2AEAIE SAR Jl==2

M

22,330
4,466
17,864

32,730

210,400

307 212+01™

M

22,330
4,466
17,864

32,730

210,400

MO

22,330
22,330

4,466
17,864

32,730

210,400

M H

10,400
3,120
7,280

10,400

307 212t01™

H

10,400
3,120

10,400




2A:

SXIXIZ 4

33 od=Nsd
el HLIE LR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 7,280
11 AMEISXAEEXS 10,400 0 10,400
O ZHAZGASAA=E X 10,400
s 3,120
s 7,280
IHEZEAES SA ARISXIA X2 XIS 1,440 1,440 0
307 glztol & 1,440 0 1,440
11 AMEISXIAEEES 1,440 0 1,440
OSXAIE SAHA Al2IS XA AHE =2 K=
30,0002 x12E x4 1,440
HEEHUoHA g2z )8 & 2l=d] N& 7,400 7,400 0
) 5,180
== 1,110
= 1,110
307 elztol & 7,400 7,400 0
Jl 5,180
< 1,110
Ea 1,110
11 AMEISXAEEES 7,400 7,400 0
Ol X Z2sZ2 1823 X 7,400
Il 5,180
== 1,110
o 1,110
UMY 22 IIHtd 22 3,848 4,050 N202
307 glztol & 3,848 4,050 A202
10 Al2IS XA E 22X 3,848 4,050 N202
ORJINY 2g Lt 298 X2 3,848
Ols - e otd =Etel 2 16,900 16,900 0
201 fer23| 1,500 1,500
03 A= SHI 1,500 1,500
O0lS. 08N ZSEI2l 28 SEHstus 1,500
301 Eet2 NS 15,400 15,400
14 0Bt 2as 15,400 15,400
O0ts.0ddetd SEtel XIZ0l &S| 15,400
A20HE L2eEXE 893,850 732,700 161,150
Jl 351,785
s 119,085
s 422,980
JIEHE 29 521,220 501,566 19,654
Jl 260,610
= 78,184
Ea 182,426
307 @20l & 521,220 501,566 19,654

-
|




2A:

SXIXIZ 4

33 od=Nsd
ohel: IR URsIIEX (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 260,610
=S 78,184
s 182,426
05 git?(& = 521,220 501,566 19,654
OJIEdH 29 521,220
Jl 260,610
= 78,184
o 182,426
JIEMH 2S(RHA) 104,000 104,000
201 et 3| 30,000 30,000
01 At22t2l] 13,000 13,000
OAlZtE 2|8 2|
1,000,000& «12& 12,000
03I HMEH ===2(HII, &FII) 1,000
2 s5=44l 17,000 0 17,000
OMHZUZ(RZRZ &I, A5i+E)
1,000,0002 122 12,000
OAIEZHHISXIHI(AlEE2==H]) 5,000
405 AHAHE S 74,000 74,000
01 AL =S F=HI 74,000 74,000
OJtEHE 01 2d =28 7Y 74,000
Oxa & oK, HIOIE S 35,000
O0lsa+=gd 900,000 *10H 9,000
OaAEAT(EY) 10,000
OYSAIE (I, ATIA, 0012 S) 20,000
HA=SXIAIE 2L (XHA) 8,400 0 8,400
201 er23 | 8,400 8,400
02 s5=34l 8,400 8,400
ONMANSUS (A, dot=E, 20t)
700,000 * 122 8,400
JESHIE SAK =& XIE 23,400 15,600 7,800
== 7,020
o 16,380
307 212+01& 23,400 0 23,400
[ 7,020
T 16,380
11 AMEISXIAEEES 23,400 0 23,400
QIIBHIE SAL =& 23,400
= 7,020
= 16,380
JIEHE SAHL MRS KIA IIASE XS 4,320 3,240 1,080
307 gl2to| & 4,320 0 4,320
1 AMISXAIEEXS 4,320 0 4,320




2A:
X XH -
o e

=aak

STIXI D
REEHNESS
AN CH2EIIERI

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

OJIZHEH SAMA AIRISXIAL IR

30,0002+ 12812

4,320

CHE3HE S4StA

S

A

182,350
91,175
27,353
63,822

175,294

7,0%

307 212t01™

S

M H

182,350
91,175
27,353
63,822

175,294

7,056

11 ARRIZXAIE 2=

OUIats XH dofze XA

OZE0I2IX} HEdst X3S

S ORmY AN

M

S

M

182,350
41,740
20,870

6,261
14,609
15,500

7,750

2,325

5,425
36,110
18,055

5,417
12,638

89,000
44,500
13,350
31,150

175,294

7,0%

o

0x
I

24
=

OI2IXt CH2IEXIJHE QIE

M H

8,600
2,580
6,020

8,600

307 212t01™

M

8,600
2,580
6,020

8,600

11 ARRIS XA E X
[u]

O0&EEE012XN UEaIEXZME I

M

8,600
8,600
2,580
6,020

8,600

A H

4,160
1,248
2,912

4,160

307 212t01™

in

4,160
1,248

4,160




2A:

SXIXIZ 4

M oe=T S
el 2201 . OErEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,912
11 MEISXAEE 4,160 0 4,160
ONgZ=0I2A+ FAH2UZA =& K& 4,160
s 1,248
s 2,912
HEZE012X Z=f s AFH(XHA) 5,000 5,000 0
307 glztol & 5,000 5,000
11 AMEISXIAEEES 5,000 5,000
OdlEl - HE Z3HE 5,000
CrEshts o= B0t 9,000 9,000
307 el2to| & 9,000 9,000
1 AMEISXAEEXS 9,000 9,000
OLIZ3HE 028 etitd 9,000
CHEatE diset st 29 14,400 14,400
307 @I2t0| & 14,400 14,400
04 QIZHHAMAIH 2 £ 14,400 14,400
od=gt st 29 14,400
BTl s 9,000 0 9,000
S 2,700
= 6,300
307 elztol & 9,000 0 9,000
= 2,700
o 6,300
11 AMEISXAIEEXS 9,000 0 9,000
OJIE7Ie H=HE 2 X A 9,000
S 2,700
o 6,300
LeEXsd 81,271,059 76,345,221 4,925,838
= 56,463,419
[ 2,354,691
= 4,032,034
Ea 18,420,915
LoIsX=g3] 1,900 2,300 2400
OISR 1,900 2,300 A400
201 ger=3| 1,400 1,800 A400
01 At 2|l 1,400 1,800 2400
OFEGH2RTE B4+
100,0003 8 *13] 800
oMRES 7Y 50,000& * 122 600
203 HR=AH] 500 500
03 A=A H =AY 500 500
OLQSAAE 20 gF =& 500

_10_




SA SAX 2
HH: LoI=X|SA
Bel: 2 ASEH 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 ASEE Ha 66,619,109 62,956,306 3,662,803
= 56,013,965
== 2,539,738
[Ea 8,065,406
DIESSGI=IONI= 57,351,089 54,519,596 2,831,493
= 51,615,980
=S 1,147,022
s 4,588,087
301 LEtE NS 57,351,089 54,519,596 2,831,493
= 51,615,980
= 1,147,022
Ea 4,588,087
01 Al EE A S (2 RDEXA) 57,351,089 54,519,596 2,831,493
(OPJESLE 57,351,089
= 51,615,980
= 1,147,022
= 4,588,087
colgiiel & ASIZSKI2 A 2 8,795,970 7,976,810 819,160
= 4,397,985
= 1,319,3%
= 3,078,589
101 @124H| 491,950 458,932 33,018
= 245,975
< 73,793
= 172,182
03 SRA(RINAHL) 222+ 30,070 27,206 2,864
OLoldXte| Mgeld(BRA) 30,070
= 15,035
== 4,511
[Ea 10,524
M ORINZZ2NSE S 461,880 431,726 30,154
O3 (SZ2A&2LIXR)
290,000 «11E*144H 459,360
= 229,680
[ 68,904
T 160,776
(©F 8 =[F=3 17,5003 144 2,520
= 1,260
[ 378
Ea 882
201 er23| 14,200 3,900 10,300
= 7,100
S 2,130

_11_
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SN ST D
)

e ;%_‘iéﬁjg 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AlLIGiZ2E K& 366,600 330,000 36,600

= 73,320
= 293,280
307 el2to| & 366,600 330,000 36,600
= 73,320
[Ea 293,280
10 AlISAAZEE 22X 366,600 330,000 36,600
OAILIIZE 28X& 366,600
s 73,320
s 293,280
Colntel R ALSIZSKIRAIY S (XA 87,000 84,250 2,750
307 glztol & 87,000 84,250 2,750
11 AMEISXIAEEES 87,000 84,250 2,750
OZ2Y SAER0I(Z THAY)
290,000 * 12& x26H 87,000
I H=2=2st g4 477,212 469,536 7,676
= 3,109
o 474,103
CRIMAL XA 2,000 2,000 0
301 Eet2 NS 2,000 2,000
11 #AIAHIXIE S 2,000 2,000
O &2 HOIEZ 3l &4 24 2,000
o3I X5 2SHIKIH 214,788 209,785 5,003
307 glztol & 214,788 209,785 5,003
03 M EHE2SHIEX 214,788 209,785 5,003
otetcels NE=Xls 214,788
OQlH((4Y) 149,788
O=gHl 65,000
22YeeT2 08 2el At Hixl 45,566 41,581 3,985
307 @I2t01 & 45,566 41,581 3,985
11 AMRISXAEEES 45,566 41,581 3,985
OoZG=s T2 2elkt oAl K& 45,566
cootEs X2 8,620 10,420 21,800
= 862
= 7,758
307 elztol & 8,620 10,420 21,800
= 862
Ea 7,758
1 AMISXAEEXS 8,620 10,420 21,800
Ot SE A 8,620
=S 862
s 7,758




2A:

SXIXIZ 4

Hu: Lol=X =X
=?el gl 322 &Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ozds gt dat2 LHS0l NA 7,488 0 7,488
= 2,247
= 5.241
201 Let=Eh] 7,488 0 7,488
= 2,247
[Ea 5,241
03 A= I 7,488 0 7,488
onz4aE A8 daot2t S0l XJAY 7,488
s 2,247
s 5,241
H2d 2AXE AR M 25 1,750 1,750
201 el 1,750 1,750
01 At2telt] 1,750 1,750
oozd 28I AEIF A €3
8, 7502 *2000HK 1,750
Lolwae 28 X 49,000 61,000 A12,000
307 gl2to| & 49,000 61,000 A12,000
1 AMISXAEEXS 49,000 61,000 A12,000
Olet=28 DT X2 FE A 40,000
Ozlst-eltlst 9,000
ANESAKNER &85 K 143,000 143,000 0
307 glztol & 143,000 143,000
11 AMEISXIAEEES 143,000 143,000
o233 & SH 23 83
200,000 x12& x32H 76,800
o3=¢ 2 50,0002 *331H *43] 66,200
H0pte =0 UXNE W= 5,000 5,000
405 AtatE = 5,000 5,000
01 TR =S FSHI 5,000 5,000
071223 P¢ 5,000
LOISESSAMHIAAY X 3,389,120 3,302,590 86,530
s 2,228,324
s 316,643
s 844,153
RIS ESSMEIAAE XI& 3,183,320 3,133,030 50,290
[ 2,228,324
= 286,49
o 668,497
307 @20l & 3,183,320 3,133,030 50,290
[ 2,228,324
= 286,499
o 668,497
1 AMEISXAIEES 3,183,320 3,133,030 50,290




A SXXE

Hu: Lol=X =X
el LOIStE=SAMHIAAE XIE (CH9: /M)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O QIXE==SAHIAAE XI& 3,183,320
= 2,228,324
== 286,49
[Ea 668,497
LOINESESMEIA SAK S - S4Hl K& ArY 150,720 120,960 29,760
= 30, 144
= 120,576
301 EtE N = 150,720 120,960 29,760
= 30, 144
Ea 120,576
02 AR 2HHSFS(HAAS, XNLHE) 150,720 120,960 29,760
LOINESSAEIA SAA WS - S4lH]
A& Ak 150,720
== 30, 144
o 120,576
COIESSAMEIA MS2E XML XA 55,080 48,600 6,480
301 EtE NS 55,080 48,600 6,480
02 MBI 2HHSFHS(HAANS, XLHE) 55,080 48,600 6,480
OLCIXESSAEIA HEE MR
30,0002 *12& x153H 55,080
coloE & MIOt=QISXIAIE XI& 6,041,829 6,004,426 37,403
[ 3,580
= 804,710
= 5,233,539
oo ESXIAIE 23| 1,852,676 1,713,554 139,122
= 314,955
o 1,537,721
301 EtE2 NS 1,852,676 1,713,554 139,122
=S 314,955
s 1,537,721
02 ARSI S2E AT S(FIANS, XLETHE) 1,852,676 1,713,554 139,122
OXIZRXIEH SEHUE =S 1,824,776
< 310,212
[Ea 1,514,564
OIS SXANL(SSAR) 27,900
= 4,743
= 23,157
Mot IS XIAIE 23| 3,702,493 3,508,577 193,916
=S 370,249
s 3,332,244
301 EtE NS 3,702,493 3,508,577 193,916
< 370,249
[Ea 3,332,244




2A:

SXIXIZ 4

Hu: Lol=X =X
Sl LOIoE 2 TYII-QI= XA X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 3,702,493 3,508,577 193,916
OXNS XA SHUES 3,465,070
= 346,507
o 3,118,563
OMIt=RINEMBIA 29 237,423
s 23,742
s 213,681
COISXAIE SAAE X2 390,000 366,600 23,400
& 117,000
= 273,000
307 glztol & 390,000 0 390,000
= 117,000
o 273,000
11 AMEISXAIEEXS 390,000 0 390,000
OLCISXAE SA
2,600,000& 150 390,000
=S 117,000
s 273,000
CRISXAE AMISXAL XA =E 45,000 45,000 0
307 212+01& 45,000 0 45,000
11 AMEISXAEEES 45,000 0 45,000
OLQ=XAIE A=A IHH =&
30,0003 x12& 1258 45,000
IRARH MRS 29,500 31,375 1,875
201 er23| 1,800 1,875 AT5
01 AtR2t2|HI 1,800 1,875 AT5
OFILLLH ZFHI M=
120,000& *15& 1,800
301 22N = 17,700 19,500 1,800
02 A 2E AT S(FIANS, XLETHE) 17,700 19,500 A1,800
OQLESA AZ X2
30,0003 *490H 14,700
OXMNEZLAES AL XIHLEH X
30,0003 %100 3,000
307 QIZHOIH 10,000 10,000
04 DIZFSHAFAI 2 X 10,000 10,000
0XIIQURY AU 938
10,000,000 *12] 10,000
DEZLEXANE KX EH] 15,000 325,000 A310,000
401 AlEHIZL S0 15,000 265,000 250,000
01 Al&H| 15,000 265,000 250,000
O3BAEE FII8d E9
2,500,000& *34 A+23] 15,000
D12 EIIAE LAY 7,160 14,320 AT7,160
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3,580
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HoH A
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1,074

oA
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2,506
1,074

Mo
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344,913

Moo

SN0 - H0He SSHEAMAEIA 245,574 218,032 27,542
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61,3%
61,393

Ao oA

307 212t01™ 245,574 218,032 27,542
122,787
61,394
61,393

HH

11 ARIZEXAIEE X 245,574 218,032 27,542
OSSNl - ZoHe SStHtAHHIA 245,574

122,787
61,394
61,393

HoH A

MOt=QIXI& 92,820 103,760 10,940
27,800
65,020

A H

301 LtENZ 58,500 69,440 210,940
17,550
40,950

M H

SIS (HLAHES, NLHA) 58,500 69,440 ~ 10,940

[0

90,0002 +650AI CH 58,500
17,550
40,950

EUNGE

307 212t01 & 34,320 34,320 0
10,250
24,070
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SXIX D
RIESES
Wt ol SR

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

M H

12,000
3,600
8,400

M

123,000
36,900
86,100

123,000

M

123,000
123,000
36,900
86,100

123,000

LOIII=EXAIE KR

HH W

4,136,995
449,454
230,640

3,456,901

3,152,971

984,024

M H

741,440
60,904
680,536

699,600

41,840

307 212t01d

M H

741,440
60,904
680,536

699,600

41,840

UMY

M H

476,640
476,640

47,664
428,976
264,800
264,800

13,240
251,560

435,600

264,000

41,040

800

H H W

898,908
449,454
134,836
314,618

792,798

106,110

HoH W

137,034
68,517
20,555
47,962

137,034

MW

137,034
137,034
68,517
20,555
47,962

137,034

307 212+01™

H

761,874
380,937

655,764

106,110
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Hu: Lol=X =X
=2 =IoI=EXIAE X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 114,281
s 266,656
10 Al SXAEEHE2EHI2x 761,874 655,764 106,110
oZ=zdg gt X& 745,324
= 372,662
< 111,79
[Ea 260,863
oZzd dgdl Xa 16,550
= 8,275
== 2,482
[Ea 5,793
d2d & =22 &5 e+ 1,690,000 1,428,000 262,000
401 Al HIZL 2048 1,690,000 1,428,000 262,000
01 Al&H| 1,680,000 1,418,000 262,000
0324 alx 900,000
Odlold 2ad=zg M= 450,000
Ot ZE3=2e A= 450,000
oZzg MHE=+ 580,000
OautH oiEd=2d W2+ 30,000
Ootedd stsd=2d W2+ 20,000
Ol tdd=2g e+ 70,000
Ogad HEH2Y HE=> 50,000
Oged 23424 e+ 40,000
ONEd XXE=2Y W2+ 50,000
O=2td AUH2Y 2= 30,000
O3lstH L=HZY 2+ 50,000
Oltgd 88E2g e 80,000
Osdlld &1E2g e+ 60,000
OHFY MdE2Y W2+ 100,000
0Zzd RA=E= 200,000
Ol RXE= 200,000
03 Al 20HHI 10,000 10,000 0
oZ=zd % Ot=22 20| 10,000
2 AZEXRI|P KA 30,000 30,000 0
402 QI2F X201 & 30,000 30,000
01 QI X2 AL EE (KEHITHE) 30,000 30,000
oALEXRIIF XA
2,000,000 * 151 £ 30,000
22Y IS A& 68,000 47,000 21,000
402 2I2F X201 & 5,000 5,000 0
01 I SASE X (RHMITHR) 5,000 5,000 0
oz3dz4 HISXH 5,000
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X XH -
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SXIX2 2t
ESSIE-INEFS]

Cel: ZRIII=EXIAlE XIJ CHe M)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 LtENZ 2,200 2,420 A220
02 A2 EH 2GS (FHAAHS, XNLWE) 2,200 2,420 A220
Og=-H| 220,0003 1004 A 2,200
307 el2to| & 14,250 14,355 105
10 Al SXAZEHE 22X 14,250 14,355 A105
o=2gH| 740,000 % 100K 2 7,400
(©f=3=] 660,000 * 107 2 6,600
odg| 25,0002 *109H 2 250
ZOHRI =X AL 13,536,386 13,747,282 A210,8%
= 7,161,725
= 1,366,856
= 5,007,805
Ol XIRAS 8,231,497 8,607,338 A375,841
= 5,313,651
< 892,011
s 2,025,835
Jlz==a it H0 432,904 425,514 7,390
= 303,033
== 90,910
[Ea 38,961
301 22N = 432,904 425,514 7,390
= 303,033
=S 90,910
s 38,961
01 Al 2E A S(FRNEXMA) 432,904 425,514 7,390
03830 432,904
= 303,033
= 90,910
Ea 38,961
ASHAAS O 181,701 181,507 194
= 127,191
= 38,157
Ea 16,353
301 LEtEd 181,701 181,507 194
= 127,191
= 38,157
= 16,353
01 Al EEABZ2(2DEEMR) 181,701 181,507 194
O3E5E0 Hots =& 181,701
= 127,191
< 38,157
= 16,353
CHl ==& 19,200 20,047 N84T
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SXIXIZ 4

S ZOAI=XA
el ZOH! XI2A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 5,760
s 13,440
301 EtE NS 19,200 20,047 N84T
= 5,760
= 13,440
02 ARSI X LGS (FHAAHS, NSWE) 19,200 20,047 NBAT
O%H| ZoH=+2OI=ME3 T 1S Z0H) 19,200
= 5,760
o 13,440
o= 2,553,619 2,581,269 AN27,650
= 1,787,533
= 229,826
[Ea 536,260
301 EtE2 NS 2,553,619 2,581,269 A27,650
= 1,787,533
= 229,826
= 536,260
01 Al EE A2 (2RNEXMR) 2,553,619 2,581,269 A27,650
o= 2,553,619
= 1,787,533
& 229,826
= 536,260
MASHOHR! &EHl & A X 2,800 1,500 1,300
= 1,400
[Ea 1,400
301 EtE NS 2,800 1,500 1,300
= 1,400
s 1,400
01 Al EE A S(FRNEXM) 2,800 1,500 1,300
OMASZOQ &Sl ¥ 2AHHl XI& 2,800
= 1,400
Ea 1,400
0l 2jZHl X 80,000 111,833 231,833
= 64,000
< 11,200
[Ea 4,800
308 XXM SOIA 80,000 111,833 A\31,833
= 64,000
=S 11,200
s 4,800
13 S [2SOHe & EAS A 80,000 111,833 A31,833
O AZHIOIZL I PI25) 80,000
= 64,000
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2A:

RZH

SAIXI2 Dt

ciol: Foje! xrwg (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o 797,732
183 S| 2SO ZB XA AIE 3,798,724 3,901,759 /103,035
OFMAESKIAAS 3,798,724
= 2,659,107
= 341,885
o 797,732
SSEX RS0 56,618 66,841 A10,223
= 39,632
= 5,096
= 11,890
308 AXIHSOIA 56,618 66,841 /10,223
= 39,632
< 5,09%
s 11,890
18 SIS0t 4 A AS At 56,618 66,841 10,223
Ogs2x IHtaSX 56,618
= 39,632
< 5.09%
[Ea 11,890
ZojelEsId Ads 29 3,000 3,000 0
201 er23 | 3,000 3,000
01 At2teltl 3,000 3,000
OZMeSKErs AR F4
=g 100,000 x3& * 102 3,000
T HHA=R0IXZA 106,302 86,082 20,220
s 31,891
s 74,411
308 AFAIEHMSOIE 106,302 86,082 20,220
[ 31,891
Ea 74,411
18 SIS0t 4 A A A 106,302 86,082 20,220
Ok ZOHA=ROIXZ A 106,302
= 31,891
= 74,411
LEMEAMEIA HIRH XNI&H 122,400 139,200 16,800
= 85,680
= 18,360
= 18,360
308 XXM SOIA 122,400 139,200 16,800
= 85,680
[ 18,360
Ea 18,360
18 SIS0t 4 A A A 122,400 139,200 16,800
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SXIXIZ 4

HE: EHOHOI= X ALY
SR B! XRAFSA (E|'$|i\_"‘o.:‘l)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OLEMEAMEIA HIRH XA 122,400
= 85,680
= 18,360
= 18,360
LT FAHESMHHIAXR 251,788 435,173 A 183,385
= 176,252
= 37,768
= 37,768
308 AXIHMISO0I& 251,788 435,173 A183,385
= 176,252
& 37,768
i 37,768
13 3I| 2 SHICHEHE & &2 EFALSHI 251,788 435,173 A183,385
oggEel F2teSMHIAXIA 251,788
= 176,252
& 37,768
i 37,768
ZSE YL =2 IS8 2 N2 82,014 119,497 A37,483
= 57,410
& 7,381
i 17,223
308 AHXIHMSOIH 82,014 119,497 A37,483
= 57,410
& 7,381
= 17,223
13 BI |2 SUICHEH B & XL EFALZHI 82,014 119,497 A37,483
Oz LETHe =2t O5H LY X
& 82,014
= 57,410
= 7,381
= 17,223
EAE YUY SRS ESMUIAXA 13,561 34,809 A21,248
= 9,493
= 2,034
= 2,034
308 AHXIHMSOIH 13,561 34,809 AN21,248
= 9,493
T 2,034
i 2,034
13 SI |2 SHICHEH B A E L EFALH] 13,561 34,809 A21,248
OFEAE LIS HNSESAHHIA 13,561
= 9,493
& 2,034
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X XH -
o e

=aak

SXIX2 2t
OIS KIAS
el XI&AIS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

O=gH| 6,900

11 AMEISXAEEXS 35,300 35,300 0
ONEZHMHA=SKEST S (XIH) 20,000
OEXIZ0lo & SAHAIZ) 2,000
OAIZE O ARSI M ESER (A1) 2,000
OZON-HIZNEAHE IIFHE(XH) 5,000
O==0{03tCI0I2 1,800
ONEZHMNLURRE =28 2 3,000
O=012IHZ2 4l MARLD] 1,500

HOS2DI=X2HH 22 74,700 66,789 7,911
& 14,940
= 59,760

307 glztol & 74,700 66,789 7,911
= 14,940
o 59,760

10 Al SXAAEEHE2EHI2x 74,700 66,789 7,911
OZOMAEYSED|=XRLEH 2 74,700
= 14,940
o 59,760

ZOHRIDIEXZME 2S 120,000 110,000 10,000
[ 36,000
Ea 84,000

307 elztol & 120,000 110,000 10,000
S 36,000
= 84,000

10 Al2ISXIAIEEE 22X 120,000 110,000 10,000
OHMIIIEXN2MHEZSE 120,000
= 36,000
[Ea 84,000

ZOHRIAICH Atcll2el XI& 42,000 42,000 0
== 12,600
o 29,400

307 212+01™ 42,000 42,000 0
[ 12,600
T 29,400

11 AMEISXAEEES 42,000 42,000 0
OZOHQIAICH Ateil2tel XI& 42,000
= 12,600
= 29,400

sSSIMI=SY 29 N 142,154 138,317 3,837

307 gl2to| & 142,154 138,317 3,837

1 AMISXAEEXS 142,154 138,317 3,837
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SXIXIZ 4

B3 K0jel =X ALY
el ZOH! XI2A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| ozzzna=sy 294l g 142, 154
ZOjRIZXIAIY Z& 3,910 3,910
201 Zeie | 3,410 3,410
01 AFR22IH| 1,500 1,500
OBMIALEN SETY U BLSHE 500
OZORINSFTEX WA 1,000
2 222 1,910 1,910 0
OBMIS=E 2EHiSHI 1,910
208 PR EZH| 500 500
03 AR A 25 AY| 500 500
OTOYI=XI 20t AIHYPER 500
2040l X2l A 1,063,892 925,89% 137,99
2 531,947
= 159,563
2 372,362
S NEPEPETCETPET) 266,929 166,564 80,345
2 133,465
= 40,089
2 93,425
101 Q1A H| 250,821 178,908 80,913
2 129,911
= 38,973
2 90,987
VBIETEEIEERS 250,821 178,908 80,913
OZ OISR RI2IAR Q14| 250,821
= 29,911
= 38,973
2 90,987
201 Lere ey 7,108 7,676 A563
2 3,554
= 1,068
2 2,488
01 AFR 22l 7,108 7,676 563
OTOI=XILN2IAIY S 7,108
2 3,554
= 1,068
2 2,488
DOl LXK 2 (LerE URI2) 631,554 591,430 40,124
2 315,777
= 4,733
2 221,04
101 Q1A H| 631,554 501,430 40,124
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X XH -
o e

=aak

SXIX2 2t
OIS KIAS

S0l LXtelAt

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 315,777
=S 94,733
s 221,044

04 JIZtNZ2Z2XNSE+ 631,554 591,430 40,124
O HE =ROIAS 631,554
= 315,777
= 94,733
Ea 221,044

ZOHQI LRt I XI& (AR Rt2]) 165,409 147,882 17,527
= 82,705
= 24,811
Ea 57,893

101 @12A4H| 165,409 147,882 17,527
= 82,705
= 24,811
= 57,893

MU IIRIMZZENSES 165,409 147,882 17,527
OFONL! AIZEMIZ RSl KT AL 165,409
= 82,705
< 24,811
s 57,893

ZOHA=XAIE K& 4,240,997 4,214,048 26,949
= 1,316,127
< 315,262
= 2,609,608

ZOHRIAFAIE 2SR 1,880,174 1,907,866 N27,692
= 1,316,127
== 169,212
o 3%4,835

307 212+01& 1,880,174 1,907,866 N2T,692
= 1,316,127
= 169,212
o 3%4,835

10 AlRISXAZEE 22X 1,880,174 1,907,866 N2T7,692
O&FASIE =3l XE 1,880,174
= 1,316,127
= 169,212
Ea 394,835

ZOHRIHFAIE 2 XA (<HI) 609,028 545,090 63,938
== 20,190
o 588,838

307 212+01& 609,028 545,090 63,938
< 20,190




2A:
T ZH -
o e

=aak

SXIX2 2t
OIS KIAS
U =XAIE K&

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

H

588,838

10 MEISXAAEHE2EHIE2X

otz 24gHl X

o

OFOANFAIE OFU22X Hei=g

Mo

M H

609,028
601,728
18,000
583,728
7,300
2,190
5,110

545,090

63,938

ZOHAXSIHEAIE I

M

412,387
11,620
400,767

399,767

12,620

307 212+01™

M

412,387
11,620
400,767

386,767

25,620

M

M H

412,387
399,387
7,720
391,667
13,000
3,900
9,100

386,767

25,620

NSAIHEAIE =29

Mo

599,909
26,200
573,709

573,033

26,876

307 212+01&

M

599,909
26,200
573,709

573,033

26,876

10 Al SXAEEHE 22X

OoAgU=3sH 234l K&

OndZ+=0SHHE 24H| &

A H

M

A H

599,909
319,690

16,200
303,490

116,305
5,500
110,805
163,914
4,500
159,414

573,033

26,876

M

417,482
17,460
400,022

399,415

18,067

307 212+01™

in

417,482
17,460

381,215

36,267
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E M

SXIX2 2t
OIS KIAS

Rl ZOHI=SXIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o 400,022
05 212t =S 399,282 381,215 18,067
ONEZZMASXME 2SH| X 399,282
s 12,000
s 387,282
10 Al2IS XA EEE 22X 18,200 0 18,200
ONEZZMNAEXIME SAA = 18,200
S 5,460
= 12,740
AZZO0HR =22 SA 2 141,817 136,177 5,640
= 23,000
o 118,817
307 @120l & 141,817 136, 177 5,640
s 23,000
s 118,817
10 Al2ISTIAEEE2HIEX 141,817 136, 177 5,640
OAIZEe F2tESA 24| X 141,817
[ 23,000
T 118,817
ZOoHI=XAIE 2SR 158,600 168,600 0
= 47,580
[Ea 111,020
307 el2to| & 168,600 0 188,600
= 47,580
o 111,020
10 AlRISXAZEE 22X 158,600 0 158,600
OZAR =& K& 158,600
== 47,580
o 111,020
OIS XIAIE A2ISXIAL A= 21,600 21,600 0
307 glztol & 21,600 0 21,600
11 AMEISXAEEES 21,600 0 21,600
OZOASXIAIE ASISXIAL AR5
30,0002 *12& x60H 21,600
S dentel B 625,730 455,530 170,200
SAAIE X2 622,530 452,330 170,200
FAANE 2SR 277,530 282,330 4,800
201 2egh=3| 10,200 19,200 29,000
01 At22t2lt] 1,200 1,200 0
OTAAIE Ot S0t A
75,0003 4 22 +23] 600
OFINISELERX IS 50,0002 128 600
02 S3=gHl 9,000 18,000 29,000
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SA: SXIKIR D
M HYRAZH(SXXE)
Sl J12dHI(SXIXIAD) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M EA2ER=AH 3,600 3,600 0
ORNEgE =AY
300,000 * 122 3,600
=gl 14,886 15,688 2802
201 fet=2 3| 14,886 15,688 A802
01 AtR2t2|HI 14,886 15,688 A802
OZet=EH| 10,350
O=AMH| 9,000 x14H+34!x 122 4,536
1] 16,000 22,000 26,000
202 04l 16,000 22,000 26,000
01 2LHoIH 16,000 22,000 26,000
O=LHxHI 16,000




